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Question: 1.(a) Solve the system of linear equations usin

g reduced row echelon form
X+2y -3z 4w =-2
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(b) For what values of A does the following system of linear equations have
(i) unique solution, (ii) no solution.

X +y +z =3

x -y -z =]

z 18]
3x+Ay +A%2 =7
3ol
- 41 -5
Al | - 8 ! { - =3
\/’ ’\ 5 . _‘ ] - 0 =3 13 2
4 5 = 7 0 9-3
| 1 (3 1 \ \ , »
A 4 \'L;/;"‘ a 1 { > N @
il | T L 7T (A-1) -
. )—3)" A R
yr> 2343

(&5 b‘\/\-qw Gl NEo, AE| .K @
5, Mo Ll bon Nozp g€ N




\

P&
0 1 ¢
Question: 2. (a) Let M=—4 4 0
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be a matrix [8]

Find all vajyes of A such that matrix M =4l s invertible,
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(b) Write the System of linear €quations in matrix form AX =p, Find
A" using Elementary matrix method, hence solye the system
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Question:3.(a) Verify the equation by using properties of determinant,

a+b a a
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(b) Use cofactor method to find inverse o TiX )
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